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0001 // adaptive difference emphasis simulation program for Scilab Ver.6
0002

0003 clear:;

0004

0005 MU=0.0003;

0006 BT=0.997;

0007

0008 DATLEN=400000;

0009 indata=loadwave (' ford8k_bpf.wav').
0010 indata=indata(1:DATLEN) ;

0011 indata=0. 95*indata/max (abs (indata)) ;
0012

0013 out=zeros (1:DATLEN) ;

0014 out2=zeros (1:DATLEN) ;

0015

0016 ¢=0;

0017 zx=0;

0018 pwr=0.01;

0019 for i=1:DATLEN

0020 x=indata (i) ;

0021 Y=X—C*ZX,;

0022 pwr=BTxpwr+ (1. 0-BT) *x*x;

0023 c=c+7 OxMU*y*zx/pwr;

0024 X=X,

0025 out (i)=c;

0026 out2(i)=y;

0027 end

0028

0029 savewave (' in.wav', indata, 8000);
0030 out2=0. 95*0out2/max (abs (out2)) ;

0031 savewave (' out.wav', out2, 8000);
0032

0033 clf;

0034 plot2d(indata, style=15, rect=[0, -1, DATLEN, 2], axesflag=1);
0035 plot2d(out+1.0, style=2, rect=[0, -1, DATLEN, 2], axesflag=1);
0036 plot2d(ones (1:DATLEN)) ;



